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１ 次の連立方程式を解きなさい。

χ＋ｙ＝４ （２） ８χ＋ｙ＝５（ ）１

χ－ｙ＝２ χ－ ＝４y

χχχχ＝＝＝＝３３３３ ｙ＝ｙ＝ｙ＝ｙ＝１１１１ χχχχ＝＝＝＝１１１１ ｙ＝－ｙ＝－ｙ＝－ｙ＝－３３３３

（３） ２χ－ｙ＝３ （４） ３χ＋２ｙ＝５

χ－ｙ＝－４ χ－２ｙ＝７

χχχχ＝＝＝＝７７７７ ｙ＝ｙ＝ｙ＝ｙ＝１１１１１１１１ χχχχ＝＝＝＝３３３３ ｙ＝－ｙ＝－ｙ＝－ｙ＝－２２２２

（５） ４χ－３ｙ＝－１ （６） ３χ＋２ｙ＝５

７χ－３ｙ＝１４ χ－２ｙ＝７

χχχχ＝＝＝＝５５５５ ｙ＝ｙ＝ｙ＝ｙ＝７７７７ χχχχ＝＝＝＝３３３３ ｙ＝－ｙ＝－ｙ＝－ｙ＝－２２２２

（７） χ－ｙ＝－３ （８） ２χ－５ｙ＝１３

３χ＋２ｙ＝１１ ４χ－３ｙ＝５

χχχχ＝＝＝＝１１１１ ｙ＝ｙ＝ｙ＝ｙ＝４４４４ χχχχ＝－＝－＝－＝－１１１１ ｙ＝－ｙ＝－ｙ＝－ｙ＝－３３３３

（９） －２χ＋ｙ＝１７ （ ） χ－ｙ＝３10

χ－２ｙ＝－２２ ３χ－２ｙ＝８

χχχχ＝－＝－＝－＝－４４４４ ｙ＝ｙ＝ｙ＝ｙ＝９９９９ χχχχ＝＝＝＝２２２２ ｙ＝－ｙ＝－ｙ＝－ｙ＝－１１１１


